—log10(P) -log10(P) -log10(P)

0 5 10 15 0 5 10 15 0 10 20 30 40 50
1 1 1 1 1 1 1 1 1 1 1 1 1 1
o
HLA-A | 8°0 HLA-A (& o HLA-A
o o
e —_ ~~
HLA-C Wi HLA-C o HLA-C
I il
Z b
m m
j§> <
HLA-B o HLA-B Z HLA-B
—_ _
o) =
5 e
2 ¥. - 2 - .
DRB1 ® DRB1 ‘%00 ® DRB1 @o°
o, o, o
o o g o ° 00
DQAL £ DQAL °° 4 L DQAL |®B o R o
oo© ° o ©o
DQB1 DQBL |#y DQBL (6 ° ° °
o o 8
DPB1 DPB1 °o o DPB1 % o
98° o
—log10(P) -log10(P) -log10(P)
0 5 10 15 0 5 10 15 0 5 10 15
1 1 1 1 1 1 1 1 1 1 1 1
) ° 00
HLA-A | BP0 HLA-A ° HLA-A |8 %
o o o
! _ _ 2
HLA-C J HLA-C " HLA-C
I il
Z b
m m
j§> <
HLA-B o HLA-B z HLA-B
=~ a
o o
3 3
S 5
o o
DRB1 o DRB1 N DRB1
23 =}
aQ o
DQAL £ DQAL » DQAL
DQB1 DOB1 DQB1
DPB1 DPB1 o DPB1

pauoipuoaun (v)

spioe oulwe g ‘asimdals (g)




